S LT T C T IR A

=
=
S
2
1

AF 44 9f

HAAFmBERRA S B4

THELFEHHIT



B =

1. AT, SR E B LT ] C DM R s
2. WA SR A B AR

3. hi LT (B) FER @Hjildm e

(FE) FER Hldm Ey

(5)

=)

(5)

=)

(H)

=)

(H)

()

4. HETHE HE A S B B

HE A 130
Xt BT 2. 56km
i - HEWELE 2. 56km
S RIVERR 2. 56km
MW ERL 2. 56km
FEEUERE T X 1 A 5Hc
FRMT A VERK 2. 56km
HEtHE 2. 56km
[ ¢ B AR
SR 130
ERHIAE - d5 1
S SR B8 N 22 T 1 D A 1
[ 558 it 5% oD A5t 130
Jiii L EH RS
i fEHh HBE AR 1
EE2 9 8 580 [El ULikst 13K
i T AT v ThaEt 130

5. # B Af 4F 9H 280 ~ T AF 5F 128 218 ( 450A[)



#it A p-
FEE L | sksstma g LT3 ] C TR 0
T f& £ i M BN iy &  F ]
G SR SX BT
IS ER T R AY) = 1 477,090
AR S e Bt BRI = 1
BEREEREt (1 C - SA) = 1 15, 231, 180
eSS S AL | km 2.56
THAE S it g S - HEWTEE BT km 2.56
THLAE A it + EmER km 2.56
A i THERT I VERR km 2.56
TG A it FEAERE T {5k K 5
THELAE A it 1+ RAWTXERR km 2.56
A + BESE km 2.56
Bh S atmitRet SR =, 1
Bh S EtmitRet RN - B = 1
[ S G IR AT REEE I PN 25 KT 1 oD At = 1
Bh 9tk b5 S haak O ket = 1
B TR SEe P BE R R = 1
e TEFmiET [EE 2 9 8 5]V [ Ligat = 1
i TR i T AT v e 2V 1
BEHT A
A atIT et = 1 767, 700
BEHT A ES 1
HIRERS - EEER e
FITERS - EERE = 1 30, 397
At - {2 - 15IAE = 1
Z Ot = 1 8,871, 676
— R B Y 1 13,661, 957
fau:il = 1 39, 040, 000




